

St. Louis County, Minnesota



Date of Report: 7/5/2025 3:03:07 PM

			General De	etails						
Parcel ID:	400-0010-05	400-0010-05820								
Document:	Abstract - 01	Abstract - 01398869								
Document Date	e: 12/02/2020									
		Le	gal Descripti	on Details						
Plat Name:	INDUSTRIA	L								
Sec	tion	Township	I	Range		Lot		Block		
3	4	51		17		-		-		
Description:	NE1/4 OF N	IW1/4 EX WLY 2			' 300 FT OF	NLY 2	200 FT & EX ELY 3	330 FT		
			Taxpayer D	etails						
Faxpayer Name	E LIND DARLI	ENE J								
and Address:	7620 ALBEF									
	SAGINAW N	IN 55779								
			Owner De	tails						
Owner Name	ARRO LANA	ĸĸ								
Owner Name	REPENSKY	LISA A								
		Pay	able 2025 Ta	x Summary						
	2025 - N	let Tax			\$	645.00				
	2025 - S	pecial Assessme	Assessments \$85.00							
	2025 -	Total Tax &	Special Asse	essments	\$	730.00				
		Currei	nt Tax Due (a	s of 7/4/2025	5)					
	Due May 15		Due Octo	ber 15			Total Due			
2025 - 1st Hal	lf Tax \$365.0	2025 - 2	2025 - 2nd Half Tax \$365.00			2025 - 1st Half Tax Due \$0.0				
·····		2025 2	2025 - 2nd Half Tay Paid			2025 - 2nd Half Tax Due		\$365.00		
2025 - TSI Hai	If Tax Paid \$365.0	0 2025-2	2025 - 2nd Half Tax Paid \$0.00							
2025 - 1st Ha	If Due \$0.0	2025 - 2	2025 - 2nd Half Due \$365.00			2025 - Total Due \$365.0				
			Parcel De	tails						
Property Addre	ess: 7620 ALBEF	RT RD, SAGINAV	V MN							
School District	2142									
Tax Increment	District: -									
	steader: LIND, DARL	ENE J								
Property/Home		Assessme	ent Details (20	025 Payable 2	2026)					
Property/Home			Bldg	Total	Def La EMV		Def Bldg EMV	Net Tax Capacity		
Class Code	Homestead	Land FMV	FMV					Capacity		
	Homestead Status 1 - Owner Homestead (100.00% total)	Land EMV \$62,100	EMV \$345,800	EMV \$407,900	\$0		\$0	-		
Class Code (Legend)	Status 1 - Owner Homestead	EMV	1		\$0 \$0		\$0 \$0	-		



St. Louis County, Minnesota



Land Details										
Dood	ed Acres:	23.47			etalis					
	rfront:	-								
	r Front Feet:									
	r Code & Desc:	W - DRILLED WE	ELL							
	Code & Desc:	-								
	er Code & Desc:	S - ON-SITE SAN	NITARY SYSTE	=IVI						
	Vidth:		0.00							
	epth:	0.00								
The d https:	limensions shown are no //apps.stlouiscountymn.g	t guaranteed to be s ov/webPlatsIframe/f	rmPlatStatPop	Up.aspx. If t	here are any questi	e found at ons, please email PropertyTa	ax@stlouiscountymn.gov.			
Improvement 1 Details (HSE)										
In	nprovement Type	Year Built Main F		or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
_	HOUSE	1993	1,15	52	1,764	-	1S+ - 1+ STORY			
	Segment	Story	Width	Length	Area	Foundati	ion			
	BAS	1	14	24	336	FLOATING	SLAB			
	BAS	1.7	24	34	816	FLOATING	SLAB			
	CW	1	14	10	140	FLOATING	SLAB			
	DK	0	0	0	328	POST ON GF	ROUND			
	DK	0	7	6	42	POST ON GF	ROUND			
	DK	0	7	16	112	PIERS AND FC	OTINGS			
	DK	0	14	21	294	POST ON GF	ROUND			
	DK	1	10	48	480	POST ON GF	ROUND			
	DK	2	5	19	95	POST ON GF	ROUND			
	Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC			
	2.0 BATHS	2 BEDROOM	1S	-		-	CENTRAL, GAS			
			Improven	nent 2 De	tails (DG 48X3	0)				
In	nprovement Type	Year Built Main Floor			Gross Area Ft ²	Basement Finish	Style Code & Desc.			
	GARAGE	2006	2,88	30	2,520	-	DETACHED			
Γ	Segment	Story	Width	Length	Area	Foundati	ion			
	BAS	1	30	48	1,440	FLOATING	SLAB			
	LAG	.75	30	48	1,440	-				
	OPX	1	4	30	120	POST ON GF	ROUND			
			mproveme	nt 3 Deta	ils (DET GARA	GE)				
Improvement Type Year Built Main Flo					Gross Area Ft ²	Basement Finish	Style Code & Desc.			
GARAGE		1995	720		720	-	DETACHED			
	Segment	Story	Width	Length	Area	Foundati				
	BAS	1	24	30	720	FLOATING	SLAB			
	DKX	0	4	4	16	POST ON GF	OUND			
Improvement 4 Details (STORAGE)										
Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc.										
STORAGE BUILDING 0 120							-			
Г Г	Segment						ion			
	BAS	1	10	12	120	POST ON GF				
	LT 1 7 10 70 POST ON GROUND									





St. Louis County, Minnesota

		Improve	ement 5 Detail	s (ST 8X8)						
Improvement Type	e Year Built	Main Flo	oor Ft ² Gros	s Area Ft ²	Basement Finish	sement Finish		Style Code & Desc.		
STORAGE BUILDING 0		64	1	64	-			-		
Segment Story		y Width	Width Length Area		Foundation					
BAS 1		8	8 8 64			POST ON GROUND				
		Improv	ement 6 Detai	ls (BARN)						
Improvement Type	e Year Built	Main Flo	oor Ft ² Gros	s Area Ft ²	Basement Finish	5	Style Co	ode & Desc.		
POLE BUILDING 0		81	6	816	-					
Segmer		•	Length	Area	Foundation					
BAS	1	24	24 34 816 POST ON GROUN							
	:	Sales Reported	to the St. Lou	is County Aud	litor					
No Sales informat	ion reported.									
		A	ssessment His	story						
	Class				Def	D	ef			
Year	Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Land EMV		ldg MV	Net Tax Capacity		
	201	\$62,100	\$334,900	\$397,000	\$0			-		
2024 Payable 2025	111	\$25,100	\$0	\$25,100	\$0	9	0 -			
	Total	\$87,200	\$334,900	\$422,100	\$0		60	1,221.00		
	201	\$53,500	\$304,600	\$358,100	\$0	9	60	-		
2023 Payable 2024	111	\$21,200	\$0	\$21,200	\$0	9	60	-		
	Total	\$74,700	\$304,600	\$379,300	\$0	5	60	793.00		
	201	\$41,000	\$298,800	\$339,800	\$0	9	60	-		
2022 Payable 2023	111	\$18,200	\$0	\$18,200	\$0	9	60	-		
	Total	\$59,200	\$298,800	\$358,000	\$0	\$	60	580.00		
	201	\$41,000	\$259,400	\$300,400	\$0	9	60	-		
2021 Payable 2022	111	\$18,200	\$0	\$18,200	\$0	9	60	-		
· · ·	Total	\$59,200	\$259,400	\$318,600	\$0	\$	60	186.00		
		, ר	ax Detail Hist	ory						
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land	Taxable Bu I MV MV	ilding	Total	Taxable MV		
2024	\$473.00	\$85.00	\$558.00	\$29,881	\$49,41	\$49,419		\$79,300		
2023	\$293.00	\$85.00	\$378.00	\$23,003	\$34,99	7	9	\$58,000		
2022	\$81.00	\$85.00	\$166.00	\$18,255	\$345	\$345		\$18,600		







Date of Report: 7/5/2025 3:03:07 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.